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PART A: Grammar and Vocabulary

Directions: Grammar and Choose the word or phrase (1), (2), (3), or (4) that best completes
gach sentence. Then mark the answer on your answer sheet.

76- Jalali ~-----emeeee the basic classes for more than six years.
1) didn't teach 2) hasn't taught
3) wouldn't teach 4) wasn't taught
77- My camera and I all the photographs from my last trip.
1) stole / lost 2) was stolen / was lost
3) stole / was lost 4) was stolen / lost
78- Life ~——-emmmeeeee different in a hundred year's time, won't it.
1) will be 2) would not be 3) would be 4) will not be
79- At - did you go there?
B: To watch a good film.
1) Why 2) What 3) When 4) Where
80- A lot of young people ---------—-—- computer games to football.
1) invent 2) forgive 3) prefer 4) spare
81- Every employee is supposed to keep his own vehicle in perfect --———--mmeemv .
1) strategy 2) production 3) condition 4) certainty
82-  You should be more -----——-—--—-- about driver's education or else you will never learn to drive.
1) dedicated 2) serious 3) famous 4) distinguished
83- A special lacking system means the door cannot be opened --------———- .
1) surprisingly 2) appropriately 3) repeatedly 4) accidentally
84- Most of the cloth which the people wear the women --------—-—-- in their own homes.
1) donate 2) collect 3) weave 4) found
85- The psychologists say: live one day at a time emphasizing ------------- not rules.

1) ethics 2) points 3) problems 4) meanings
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86- David is very ---—---------- - he often buys som presents for kids.
1) religious 2) generous 3) healthy 4) important

87- Learn natural relaxation techniques to help you spend stressful situations more ---------- .
1) mainly 2) possibly 3) carefully 4) calmly

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Today, smoking stands as a source of many problems, illnesses, and troubles.First of
all, as its most prominent characteristic, it destroies the man as a whole. The primary
feature of smoking is the (88) ------------- of cencer which (89) ------------- as an
incurable illness that occurs because of the (90) --------nmm-- ingredients in the smoke.
As a kind of drug, smoking ruins the brain by using the blood system in the body.
i Furthermore, it makes people smell badly owing to the tobacco. As an additional

(91) ===mmmmmmmmm- , there is the budget; spending some money for each pocket, smoker
ruin their budget. As a conclusion, I (92) ------------- say that any kind of smoke does
not make us healthy.

88- 1) center 2) production 3) process 4) dedication

89- 1) is known 2) knows 3) is knowing 4) has known

90- 1) heavy 2) difficult 3) special 4) harmful

91- 1) experiment 2) plan 3) problem 4) idea

92- 1) would 2) might 3) could 4) must

PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Why do they drive on the left in Britain and on the right in other countries? The reason
for this goes back to the days when people travalled by horse. Most people are right-
handed, and thus the left is the natural side to ride on if you are on horseback and need
your right hand to hold a sword in case of trouble. So, why didn't the rest of the world
do the same ? Because of Napoleon Bonaparte. He insisted that his armies marched on
the right, and as he marched through Europe, he imposed this rule wherever he went.
In the twentieth century, Adolf Hitler did the same. Signs reading "Rechts Fahren"
were put up whenever he took over a country. The question suggests that only the
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British drive on the left, but in fact, out of 178 countries in the world, there are about
50 that drive on the left including Japan. However, most of them are former British
colonies.

In Britain, people drive on the left, but most countries drive on the right because -------- .

1) they are left-handed people who cannot use their right hands in the traffic

2) they are right-handed people who cannot use their left hands while driving their cars

3) they can ride their horses easily on the right hand side of the road along with the
cars passing by

4) this is an old habit resulting from the thought that they would need their right hand
to fight on horse back

It's pointed out in the passage that Bonaparte and Hitler were two people who ----------- .

1) were the best leaders of their countries

2) forced on using the left side of the road

3) changed the habit of riding on the left side

4) marched all over the world

It's clear in the passage that ----------—-- .

1) there are 178 countries driving on the left

2) the British are the only people who drive on the left

3) Japan is an example for those countries where people drive on the right side of the road

4) most of the countries where people drive on the left used to be controlled by the British

PASSAGE 2:

A material is what something is made of. There are 5 basic materials. Most things are
made with these materials. Some things are made of metal. Some things are made of
glass. Some things are made of wood. Some things are made of cloth. And some things
are made of plastic. There are some other materials. But they are not used as much as
these 5 materials. 7

Let's talk about metal first. Metal is very heavy. And it is very hard and strong. It
usually feels cool if you touch it. We use metal to make lots of things. We use it for
forks and knives. We use it for keys. We use it for cars. We use it for these things
because it is very strong.

Next, let's talk about glass. Glass is.very smooth. It feels cool to touch. It is not as
heavy as metal. It is hard. But it is not strong. It breaks very easily! Then why do we
use it? We use it because it is clear! You can see through glass! That's why we use it
for windows. That's also why we use it for glasses.

Now, let's talk about wood. Wood is lighter than metal and glass. It is not as strong
as metal. But it is much stronger than glass. We use wood to make lots of things.
Things made from wood are usually light and hard and strong. Chairs and tables are
made from wood. Pencils are made from wood.
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Now let's talk about cloth. Cloth is very light. It is much lighter than wood. And it
is very soft. We use cloth to make lots of things. For example, it is used to make
clothing. And it is used to make blankets.

Last, let's talk about plastic. Plastic is also very light. But it is different from cloth.
Sometimes it is soft. And sometimes it is hard. Plastic can be used to amaze thin
plastic bags. These are light, soft, and strong. But plastic can also be used to make
bicycle hats. These are light, hard, and strong. A bicycle hat and a bag seem different.
But they are both made from plastic.

96- Which sentence from the passage best describes the main idea?
1) We use cloth to make lots of things. 2) A hat and a bag seem different.

3) There are 5 basic materials. 4) Metal is very heavy.
97- According to the passage, how does glass feel?
1) smooth and cool 2) warm and soft
3) light and hard 4) sharp and heavy
98- '"Wood is lighter than metal and glass'. The main purpose of this sentence is to ---------- .
r‘«1) compare something 2) discover something
3) show something 4) explain something
99- When you want to make something that is strong and very light, you use ------------- .
1) glass 2) plastic 3) wood 4) metal
100- In this passage, the author talks about ------------- .
1) hard things first, then soft things 2) heavy things first, then light things

3) strong things first, then weak things 4) cool things first, then warm things
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